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2.
General Instructions :

1

Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions
are in sequential order.

3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to dlsqualn"lca‘uor®iC the candidate.

4 Write your Question Paper é&ie%lo 65/0SS/1, Set—. on the Answer-Book.

5 (@)  The Question PaperdsJdn English/Hindi medium only. However, if you wish, you can answer in any

one of the langu isted below :
English, Hindi , Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, M uri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are @%d to indicate the language you have chosen to answer in the box provided in the
Answer-Beok

(b)  Ifyouchoose to write'the answer in the language other than Hindi and English, the responsibility for
any errors/mistakes in understanding the question will be yours only.

A A

1 &ell 9995 % Ueel IS UX 37U STshHich 1asd fag |
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ECONOMICS

HYTA
(318)
Time : 3 Hours] [Maximum Marks : 100
gy : 3 "L [quie : 100
Note : (i)  All questions are compulsory.
(il)) Marks allotted to each question are indicated against it.
(iii) Each question from Question Nos. 1 to 10 has four alternatives - (A), (B),
(C) and (D), out of which one is the most appropriate. Choose the correct
answer among the four alternatives and write it in your answer-book against
the number of the question. No extra time is allotted for attempting multiple
choice questions.
et ¢ () |W weAl % SR ATl
(i) Y&® 99T & TEY STk ofm fag T ¥
(i) W & 1 ¥ 10 9% & Yd® UeF. H AR [a&bed — (A), (B), (C) a1 (D)
g, v @ ue ged Suge ¥ A faeedl ¥ ¥ |E 39X gH qun Srue
ST-gRaeT H Yed "' &% gEd SuX (o | sg-famedl wedi & fog
sfafte a9 HE% fean s
O
1  The central problem @d by an economy is related to.... 1
(A) Economic (B) Economic development
(C) Allocatio %‘ resources (D) None of the above

(A) enfdes dgfg & BIdT & (B) onf¥fe faem ¥ ear
(C) dEmerl % amded ¥ 81 & (D) SWiad ¥ ¥ &g Tel

2 The coeffecient of correlation between two independent variables will be 1
equal to -
(A) 0 (B) +0.1
<) -1 (D) +1
(A) 0 (B) +0.1
©) -1 D) +1
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3 Total utility falls only when - 1
(A) Marginal utility falls
(B) Marginal utility is less than total utility
(C) Marginal utility is negative
(D) Marginal utility is zero
(A) M= YA T2l &
(B) e TR B SUEAE ¥ B A E
(C) dma SYARET FOMHE Tl &
(D) ¥ SUAIRET ST Bl ¥

4  Total product is always equal to... 1
(A) Sum of average products (B) Sum of marginal products
(C) Output x marginal product (D) None-of the above
P IR Fed TG BT §

(A) ofEd SAEl & I & (B) €M STEl % AT H
(C) (dmma I x ) & (D) Iued ¥ ¥ et & e @
=S
S
5  Average Revenue\@always equal to - 1

(A) Total I@hue — Marginal Revenue
(B) Price of the commodity

(C) Marginal Revenue x Quantity sold
M) T.R,—T.R._,

fEd S Fed S BTl § —

(A) P MM — €T S &

(B) % & ®HEd &

(C) dMra SIFM x & &I 99l T3 A&
(D) o oW, — o M, )
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6  Marginal Revenue and Average Revenue of a firm are always equal under... 1

(A) Monopoly (B) Perfect competition
(C) Monopolistic competition (D) None of the above
THh FH b A AT SR o ST HeT 9UE B €

(A) THIHSR H (B) i wfe@ifar ®

(C) UmHeds Fiaanar & (D) Swed ¥ fpdt & &

7  What should be added to NDPg, to get National Income? 1
(A) Consumption of fixed capital (B) Net factor income from abroad
(C) Net indirect tax (D) Profits
TER 3 §d & & MU 9red and oY a9 Sar’ o 91§81 91 91ey ?
(A) omad sl & IUHRT (B) faeat @ Frew d@e=. o™
(C) Ta@ uad &L (D) w9
8  Which of the following is not a part of compensation of employees? 1
(A) Free residential facilities (B) FEree medical facilities
(C) Gifts on festivals (D)" Bonus
frrefafaa o @ [ % TITCATHE 0 | T2 & 7
(A) Fryges smam ghywdS (B) frges fafeen gfremd
(C) drRRi W Q)% (D) ==
S
9  Capital Rec@s... 1

(A) Increase Assets

(B) Either increase Liabilities or reduce Assets
(C) Always decrease Assets

(D) Decrease Liabilities

v e &

(A) st sedr @

(B) aerial sedt @ A ufesiad ged @

(C) =R ufEmtaar g2t &

(D) I T ¥
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10 Government Budget is presented by : 1

(A) President of India (B) Speaker of Lok Sabha
(C) Finance Minister of India (D) Prime Minister of India
TIHT I Egd fopan <frar @
(A) 9RG & Teguld &R (B) WhaeT & Wik &R
(C) 9Ra & faa &= g™ (D) 9Rd & JEEEA ERT
11  State the method of calculating 3

(i) Quartile Deviation and (ii) Coefficient of Quartile Deviation
TgeE fqaee iR agUe faaes & uie @ giead B @ oty aaEg|

12 State the difference between Micro economics and Macro- €economics. 3
Give an example of each.

R e IR guite Ty ¥ 1Y Sd18U | Udd &1 Uk Tk IaE 9T ST |

13 The price of X falls from Rs. 10 per unit to Rs. 9 per unit and as a result 3
of it, there is a rise of 20 percent in its.quantity demanded. Calculate its price
elasticity of demand.

X % @ &Ea 10 E.@%*Qs‘cmé Y EEHT 9 ®. Ui IHE B Wl 8| TS Holay
Tah T AR 20 WS 76 S F | g i Wi o wre r are Bin
S

14 State any th&9 properties of indifference curve. 3
ST 56 Dl e i [F9ard Farsy |

15 Define law of demand. State any two of its assumptions. 3

q & Em & g ST 3E@ Bis & " 9aisy |

16 Explain the difference between 'change in supply' and 'change in quantity 3
supplied'.
R (IR R R M R e ot | L e T i R e R 2 | e
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17  While measuring National Income of India how will you treat ? 3
(a) Profit earned by foreign branches of State Bank of India.
(b) Gifts given to teachers by the school on its foundation day.

TSI 3T &7 SMehes Hhid T oMY MfaRad & T w1 Jaei & ?
(31) RO w2 % o fodsh smaret g sifta am |
(@) UTSSTET ERT TSN o TWOAT fad UX Sredmash! & f§u T Suer|

18 Explain the meaning of APC and MPC. 3
3fEd IUART Ygra ST €M1 SU¥RT Ygra a1 ot a9smsy|

19 Explain with the help of aggregate demand curve the equilibrium level of 3
income.

T AN 56 Dl GEIAT 9 ST % Hed Wl Bl AT BTy

20 What is meant by optimum utilisation of rosources? Explain. 3

GETEEl % Harad YA ¥ T arad BT § 7 gHEiEul

21 Calculate arithmetic mean by the assumed mean method from the following 4

data : §®
AT Hred faty T, sl ¥ AT &l IRehad BT :

4

Marks / 3% \Q(b' 0-10]10-20{20-30(30-40|40-50
Number of@;ﬁs [ faeni¥ay @& e 7 12 15 11 5

22 A consumer _consumes only two goods and is in equilibrium when 4
MRS=MRE:Explain why?

T SUHIERI Bad &l IS BN SUART HIAT & ST TRds &l g aX = fafma
% T T Bl Rafq  d@qad § ar &1 g9sse =i ¢

23 Explain with the help of marginal product schedule, the law of variable 4

proportions.

T ITE AT Bl Fermdr & el ofardl & Fawl @l e i |
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Define intermediate goods and final goods. Give two examples of each.

Hegad aegai ofiX erfam et @l qiedTon I | Ue % &l &l SaTeX Qg

State the determinants of propensity to consume.

ST ygfa % eaie saEy

Explain "banker to the banks" function of central bank.

The following table shows the marks obtained by 5 students in Economics

and History.

1 2 3 4 5
Marks in Economics 45 75 25 60 30
Marks in History 60 70 40 30 20

Calculate Rank coeffecient of correlation.

T D T a5 el g erdymer iR s ® wid ofe qutlel B

1 2 3 4 5
— NN

sefeme H o A“'\\Q 45 75 25 60 30

R § o (\&\) 60 70 40 30 20

F we gy T @ awe BT |
S

Define oligopoly. Explain the feature 'interdependence' of this market
with the help of an example.

IR @l -TieToT ARTY| 39! fawar ‘SfafdRar &l < Tk Sereiol &l
FeTaar 9 BTy

How can the government (i) reduce income and wealth inequalities and
(i1) provide employment opportunities by its budgetary policy.

LB AT SO A & & 68 a3 (1) o ofR wwufq & oradmar &a &
el 8, ST (ii) S & STaEX Ye™ &Y bl o

E.E [ Contd...


http://studentsuvidha.com/
http://studentsuvidha.com/

30 Calculate National Income. 6

(X 000)
(1) INAIrECt TAXES . .ciiiiiiieeeeiiiieeceeieee ettt e e e e err e e e e e ara e e e e eaaneeeas 100
(11)  Change 1N STOCK .....cccvviieriiiieiieecie ettt e ere e e e e e e e e enaee e 200
(iii)) Government final consumption expenditure ............ccceeeeveeernveennee. 2,800
(iv) Net fixed capital formation..........ccceecveeriiiiriiieiniiierieeeee e 1,700
(v)  Consumption of fixed capital .........cccoeeeviiiieiiiiieiiiiciie e 200
(VD) SUDSIAICS ..evvvieiieiiiiiieeeeieee e ettt e ettt e e et e e e e e are e e e e etaaeeeeeeaaraeeeeans 20
(vii) Private final consumption expenditure ...........ccoeecveeevieeeniiieenieeennnen. 5500
(VI1) EXPOTES .eetiieiiiieeiieeeiee ettt ettt ettt e e e e e et e e st e e e e e e ensnaaens 300
(IX)  TMIPOTLS .eeviieiiiieeiee ettt ettt e e e et e e st e e s b e e esbee s nbeeeensaeeenssaaans 500
(x) Net factor income from abroad ..........ccoeeoeveiiieiiiniieniee e - 100
R G 1 e e R s e L
( 000)
(1) BTITIET T oeeiiiiiiiiiiiiieieeee e e e e e e e e e eeeeeeeeeeeeeeeeeeeee sotaee s theeeeeeas 100
(i) TZTB TECATT oottt s 200
(iii) FXBIRA ST STHIT B oo et 2,800
(iv) 8 Rert gl P B, 1,700
(V) RIT GO BT TTHT e e e 200
(Vi) STRIE TERIAT ..o e e 20
(vii) TSI ST STHIT ..ot B 5500
(VD) T e o B 300
(IX)  STTRT +evvviiieeeeeeeeeeteriiieeeeeeeeeeeas e e e e eeeeeeeanatbaanneeeeeeeeenenssnnnnneeens 500
(x) focetf @ g& @red aqg\\ ................................................................. 100
31 Explain how do the wing-influence price elasticity of supply? 6
(i) Nature of th modity (ii)) Time period
amgfet @ B H BH YW Bl 5 7
(i) =g @ (i) w99 Sy
32 Calculate Laspeyre's price index number. 6
AT &% DI GaAhich B TIhe DI |
Items Base Year Current Year
L AR T Y W
Price Quantity Price Quantity
HMd A= HHA A=
3 3
A 8 20 10 25
B 10 25 12 30
C 6 15 8 20
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2.
General Instructions :

1

Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions
are in sequential order.

3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualiﬁca‘tior@iC the candidate.

4 Write your Question Paper é&ie%lo. 65/0SS/1, Set— on the Answer-Book.

5 (@)  The Question PaperdsJdn English/Hindi medium only. However, if you wish, you can answer in any

one of the langu isted below :
English, Hindi , Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, M uri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are @%d to indicate the language you have chosen to answer in the box provided in the
Answer-Beok

(b)  Ifyouchoose to write'the answer in the language other than Hindi and English, the responsibility for
any errors/mistakes in understanding the question will be yours only.

A A

1 &ell 9995 % Ueel IS UX 37U STshHich 1asd fag |

2 PUA UTIH DI o b UT-US % P JOBI qAT YA Sl Al & Hewn & A 9ud gt b FE HuY Bl
139 91 &1 St o B A o 99T e T H B

3 Sa-gRaw ¥ qeam-fag g sruan i el % stfafiad wel o erggeie faes 1 wdianef @l erirg
FEAT S|

4 U STA-gRAeT X YeT-US &l wrs '@ 65/088/1, ﬂz-.%@

5 (®) WU ha [Ed)/SFs qreay ¥ | e o, afy ey o @ T & 1 feRdt wen wron S € @b §:

sy, &, o, U, den, qfe, Ao, e, dq, e, Sfen, e, e, qfgd,
ST, AT, B, Teepd i e
mwﬁwﬁﬁmmaﬁaﬁ%@ﬁswﬁwwﬁwmﬁ%
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ECONOMICS

AL
(318)

Time : 3 Hours] [Maximum Marks : 100

qHqy

D 3 gue] [quies : 100

Note :

et

(i) All questions are compulsory.
(il)) Marks allotted to each question are indicated against it.

(iii) Each question from Question Nos. 1 to 10 has four alternatives - (A), (B),
(C) and (D), out of which one is the most appropriate. Choose the correct
answer among the four alternatives and write it in your answer-book against
the number of the question. No extra time is allotted for attempting multiple
choice questions.

() o wedl & IAX QT

(i) Y&® 99T & TEY STk ofm fag T ¥

(iii)) 997 " 1 ¥ 10 d% & Y&®b U9 H T fa&wed — (A), (B), (C) aar (D)
g, 7 9 o% 99 Suged ) A faehedl H ¥ WEl IAX g Ul Ul
ST-gRadeT § YeT HEd & gEe SsuX e | gg-famedl weAl % fog

aﬁrﬁaﬁwﬁﬁmm|

Total product is alw \%qual to... 1
(A) Sum of average’ products (B) Sum of marginal products

(C) Output x @rginal product (D) None of the above

FA ARG TR T B T

(A) ofrea STl AT & (B) #mra SE & 9N &

(C) (Vmrg Sdre.x a IdEd) & (D) Sued # & fopell % quey =&

2 Marginal Revenue and Average Revenue of a firm are always equal under... 1
(A) Monopoly (B) Perfect competition
(C) Monopolistic competition (D) None of the above
Th HH & A ST SR SfEd S |eT SUE B |
(A) THRBR o (B) o wfcenfirar &
(C) Uiy iR (D) S ¥ fodl § =1
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3 Government Budget is presented by : 1

(A) President of India (B) Speaker of Lok Sabha
(C) Finance Minister of India (D) Prime Minister of India
B TTe Yga foham S &
(A) 9RG & SO & (B) @%aHr & wWet
(C) wa & faa = g (D) 9Rd & wa=EE g
4  The central problem faced by an economy is related to.... 1
(A) Economic growth (B) Economic development
(C) Allocation of resources (D) None of the above
(A) o d@gfe & o 7 (B) onf¥e fasra & 2iam &
(C) HHmedi & oMeed § el § (D) Swe ® ¥ @5 Tl
5 Marginal Revenue is always equal to : 1
(A) TR — AR (B) Output
(C) TR, - TR, (D) None of the above

HET ATH gel IEX BT ©
(A) PA dME — ofEd dTH &

Dol ATH

Q
Q
(B) % %; Q

(C) n ZHEA @W—(n—l)%@ff%ww%ﬁ
(D) Wg@@ﬁéﬂé’r

6  Total utility falls only when - 1
(A) Marginal utility falls
(B) Marginal utility is less than total utility
(C) Marginal utility is negative
(D) Marginal utility is zero
(A) dmT SUAINT g §
(B) €T SUDIRT e SUAREr ¥ HH B T
(C) dmra SYAIRET FomTds el &
(D) dMra SUAIRMEr = Bl §
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7 National Income is equal to : 1
(A) Domestic Income + Factor Income from abroad
(B) Net National Product + Indirect taxes
(C) Gross National Product at factor cost — Consumption of fixed capital
(D) None of the above

T o™ IUE Bl §

(A) TXq T + fodell & @em oma &

(B) frew@ wHa SR + oWEE W &

(C) dME @A WX Hhdd TS SUR — R Yol &I SUURT &
(D) SUled ¥ ¥ BE

8 The coeffecient of correlation between two independent variables will be 1
equal to -
(A) O B) +0.1
<) -1 D) +1
(A) 0 (B). 0.1
<© -1 (D) +1
9 A receipt that 1ncreasegt§%1htles is called... 1
(A) Profit (B) Revenue receipt
(C) Capital rec@ (D) None of the above
s wifta & gedl & 3§ ®ed ¢
(A) «m™ (B) T Witk
(C) YirTawifet (D) W ® ¥ B &
10 Which of the following is not a part of compensation of employees? 1
(A) Free residential facilities (B) Free medical facilities
(C) Gifts on festivals (D) Bonus
frfafad o & F1 HHaTEl & qCAHEG Bl 91T Tl 7
(A) Frges smara glaemd (B) fr:qqes fafshear gfoemg
(C) rRR T IR (D) s
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11  While measuring National Income of India how will you treat ? 3
(a) Profit earned by foreign branches of State Bank of India.
(b) Gifts given to teachers by the school on its foundation day.

TET 3T B Ao Hid G0d AT Frefaiad & e /1 HeagR bl 7
(31) 9RO ®e % o foesh smaret g eiivta «my |
(@) TS ERT TSN o TWOAT o UX Sredmash! & f§u T Iuer|

12 Explain the difference between 'change in supply' and 'change in quantity 3
supplied'.
R IR R (R R R e ot 1 L B T s R e R 2 | e

13 Price of commodity A falls by 20 percent and as a result its' quantity demanded 3

increases from 400 units to 500 units. Calculate its price elasticity of demand.

A I8 B HEA 20 Y9 Tl § SR 39% UNOIHEEY g6 |01 9 400 3675
g gedh? 500 IHE B TN T IHBI AT Bl DEd @ Bl URHAT DI

14 Explain the meaning of APC and MPC. 3
@mawﬁmuq%@n@wﬁmwﬁwwaém|
&5
15  State the law o @%’umshmg marginal utility. Also state its assumptions. 3

Wﬁ@ﬁﬂﬁ%%wﬁmﬁaﬂwlsﬂaﬁnmi%ﬁwl

16 Explain with the help of aggregate demand curve the equilibrium level of 3

income.

Y AN 56 Dl GEIAAT § ST % Hed W Bl ATl B |

17 State the method of calculating 3
(1) Quartile Deviation and (ii) Coefficient of Quartile Deviation

Tge® eee o Igee® aes & UTie B qiwed BT ol fafy IRl
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18 What is meant by optimum utilisation of rosources? Explain. 3

TEEFET & Iy SUANT § T ardd &aT § ¢ 99HE|

19 State any three properties of indifference curve. 3

FERMEM dh B Bls A9 [FITAT AT

20 State the difference between Micro economics and Macro economics. 3
Give an example of each.
R rdITe X guite Ty ¥ 1Y Sd13U | Udd &l Uk Uk IaE 9 ST |

21 Calculate arithmetic mean by the assumed mean method. 4
argATiT e fafy gro wrem ar aftee ity

Marks / 3i 0-20 ] 20-40(40-60[60-80|80-100
Number of Students / faenferat @1 g 8 10 | 127 14 6

22 Define intermediate goods and final goods. Give two examples of each. 4

Hegaal agel ST SaH aegstl @I qreaTsT. SANTY| Y % &1 &l IQ0 ST |

23 State the determinants of §opensity to.consume. 4
ST ygfa % Mai® E&ﬁ%l
S
S
24  Explain with t %%lp of'marginal product schedule, the law of variable 4

proportions. @
YT ITE ATl Teraal | UiEdl STurdl & 1wl &l e s |

25 Explain "banker to the banks" function of central bank. 4

26 A consumer consumes only two goods and is in equilibrium when 4
MRS=MRE. Explain why?

T SUHIERI had &1 TGS BN ST HIAT & ST WRemds &1 diia aX = fafma
% IO X DI Rafq  dged § ar 31 g9sEe w®&i ¢
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27 Marks obtained by 5 students in English and Economics are given below :
1 2 3 4 5
Marks in English 35 60 20 55 30
Marks in Economics 55 65 35 30 25
Calculate Rank coefficient of correlation.
5 faeni¥ial g SRS o ordemed § U ofw A fiw Mo ¥
1 2 3 4 5
S ¥ ofw 35 60 20 55 30
sefemE § o 55 65 35 30 25
%H gy TUN% B UNHAT DI
28 Calculate National Income. 6
(X 000)
(1) INAITECt TAXES . .eiiiiriiieeeiiiiieeeeieee et eerre e e e e e e e e e afe e s S he e e e eeaaee s 100
(11)  Change 1N STOCK ....ccoviiiiriiiiiiieeeiee ettt e e 200
(iii)) Government final consumption expenditure ..............ccceeeveeeruveennee. 2,800
(iv) Net fixed capital formation..........cceceeveeeriimmescfenit i 1,700
(v) Consumption of fixed capital ...........cccciiiiiniiiiniiienie e 200
(V1) SUDSIAIES ..evvviieieiiiiieeeeiiee ettt e e e et e e et eeeeearaeeeessaaaeeeennasaeeeanns 20
(vii) Private final consumption eXpendifure ..........cccceevveeevveeeriireersneeeennnen. 5500
(VI11) EXPOTES .neviiiiiiieeiie e 60 ettt BBttt et e sttt e st e et eesaeeens 300
(ix) Imports .............. \&Q ............................................................................ 500
(x) Net factor inc@e from. abroad .........cccoviiiiei e, — 100
L A Bl - ST |
@ ( 000)
(1) BTITIET T oot i tiadeeeeeee ettt ettt e e et e e et e e et e e e e e eeeeeeeeeeeeeeaeeeeeeeeas 100
(i) T8 TEEITT ot vttt 200
(iii) TEBI-SITT STHTT BT oevviveieeiieieeeeeeeee e 2,800
(iv) 8 ReT ol PO, 1,700
(V) RIT O BT TTHTT v 200
(Vi) STRIE TETRIAT ..o 20
(vii) TSI ST STHIT B ..o 5500
(VD) T e, 300
(X)) BTTRT +evvvtiie e e et e et ettt e e e e e e e et eaab e e e e e e eaeeaabbbteeeeeeeeaeenssnsnaneeas 500
(x) TORIM F PE FET Moo — 100
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29

30

31 Define oligopoly. Explain the feature 'interdependence' of this market
with the help of an example.
ST Sl i <IfNT) ga! fasivan ‘siafiRar @l e Th ISR Bl
e ¥ i |
32 Calculate Paasche's price index number for the current year.
yaed 99 % [T WY % T gadie B AT BT |
Items K®®Base Year Current Year
2 RS HYR_a9 Tafd a9
\\Q(by Price Quantity Price Quantity
3 3
A 40 20 50 30
B 20 10 40 25
C 12 15 20 25
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Explain how do the following influence price elasticity of supply?

(1) Nature of the commodity (i1)) Time period
Mgl &t Hma @ Frafaied § %8 gwifad s § 7
(i) oxg @ vl (ii) wwa ety

How can the government (i) reduce income and wealth inequalities and
(i1) provide employment opportunities by its budgetary policy.
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HIFATE FE .
seTrRe  |(C
ECONOMICS
A
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Day and Date of Examination

(wliem 1 fom T o)
Signature of Invigilators 1.
(Friveri & zwe)

2.
General Instructions :

1

Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions
are in sequential order.

3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualiﬁca‘tior@iC the candidate.

4 Write your Question Paper é&ie%lo. 65/0SS/1, Set— on the Answer-Book.

5 (@)  The Question PaperdsJdn English/Hindi medium only. However, if you wish, you can answer in any

one of the langu isted below :
English, Hindi , Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, M uri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are @%d to indicate the language you have chosen to answer in the box provided in the
Answer-Beok

(b)  Ifyouchoose to write'the answer in the language other than Hindi and English, the responsibility for
any errors/mistakes in understanding the question will be yours only.

A A

1 &ell 9995 % Ueel IS UX 37U STshHich 1asd fag |

2 PUA UTIH DI o b UT-US % P JOBI qAT YA Sl Al & Hewn & A 9ud gt b FE HuY Bl
139 91 &1 St o B A o 99T e T H B

3 Sa-gRaw ¥ qeam-fag g sruan i el % stfafiad wel o erggeie faes 1 wdianef @l erirg
FEAT S|

4 U STA-gRAeT X YeT-US &l wrs '@ 65/088/1, ﬂz-.%@

5 (®) WU ha [Ed)/SFs qreay ¥ | e o, afy ey o @ T & 1 feRdt wen wron S € @b §:

sy, &, o, U, den, qfe, Ao, e, dq, e, Sfen, e, e, qfgd,
ST, AT, B, Teepd i e
mwﬁwﬁﬁmmaﬁaﬁ%@ﬁswﬁwwﬁwmﬁ%
(@) S & erfafva fepdll o W ¥ IO foad € ol W @l wWEM H ' a9
Ffear | Tafaar st e haw sraw! s
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ECONOMICS

AL
(318)

Time : 3 Hours] [Maximum Marks : 100

qHqy

D 3 gue] [quies : 100

Note :

et

(i) All questions are compulsory.
(il)) Marks allotted to each question are indicated against it.

(iii) Each question from Question Nos. 1 to 10 has four alternatives - (A), (B),
(C) and (D), out of which one is the most appropriate. Choose the correct
answer among the four alternatives and write it in your answer-book against
the number of the question. No extra time is allotted for attempting multiple
choice questions.

() o wedl & IAX QT

(i) Y&® 99T & TEY STk ofm fag T ¥

(iii)) 997 " 1 ¥ 10 d% & Y&®b U9 H T fa&wed — (A), (B), (C) aar (D)
g, 7 9 o% 99 Suged ) A faehedl H ¥ WEl IAX g Ul Ul
ST-gRadeT § YeT HEd & gEe SsuX e | gg-famedl weAl % fog
aﬁrﬁaﬁwﬁﬁmm|

Qs
Government Budget (izé@esented by : 1
(A) President of &@ia (B) Speaker of Lok Sabha

(C) Finance @ ster of India (D) Prime Minister of India

Wﬁw%mw%:

(A) 9RA & Tgufl &I (B) WHEHl % Wh &
(C) 9RA & a0 H31 &) (D) 9T & JEEEAl &R
2 Which of the following is not a part of compensation of employees? 1
(A) Free residential facilities (B) Free medical facilities
(C) Gifts on festivals (D) Bonus
Frfafad & & o1 HHaEl & ARG &1 9 7ol 7
(A) Frges smamg glaemd (B) Ty faferear giqamd
(C) R T IR (D) s
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3 The coeffecient of correlation between two independent variables will be 1

equal to -
(A) 0 (B) +0.1
<) -1 (D) +1
(A) 0 (B) +0.1
<) -1 D) +1
4  Marginal Revenue and Average Revenue of a firm are always equal under... 1
(A) Monopoly (B) Perfect competition
(C) Monopolistic competition (D) None of the above
TH HH b M ST ST ofEd o HET aXE B §
(A) TR ¥ B) o wRwfE &

(C) Uy d® Fiaainar & (D) SudER o fpay ¥ wE

5 Total Revenue is equal to.... 1
(A) Price x Output Q (B) Marginal Revenue x Output
O .
(C) Sum of Average %\ienues (D) Price x Average Revenue
P H TAEX @
(A)a?ma§@%m%5 (B) WWid S x IR &
(C) ofgd o™i &, am & (D) ®HYd x AEd AW &

6  The central problem faced by an economy is related to.... 1
(A) Economic growth (B) Economic development

(C) Allocation of resources (D) None of the above

(A) onfie Egfe & orar & (B) onfies faema & 2iar @
(C) wETel & SeeT § ear © (D) SWe ¥ ¥ &g T2
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7 National Income is equal to : 1
(A) Domestic Income + Net Indirect taxes
(B) Net National Product + Indirect taxes
(C) Gross Domestic Product — Consumption of fixed capital
(D) Net National Product (@ Market price — Net Indirect taxes

TEE S IXER BT ¥

(A) O A + & SITEH B

(B) fra@ U&™ IR + oTUd BT

(C) ¥Hhd T SAR — ReT S &1 IUAN

(D) R & W & WA AR — & AIIH BT

8  Total utility falls only when - 1
(A) Marginal utility falls
(B) Marginal utility is less than total utility
(C) Marginal utility is negative
(D) Marginal utility is zero
(A) dHra IYFIRET Tedl ®
(B) € SUDRMET e SUAREr ¥ A B T
(C) dmra SYAIRET FoMTEs el &
(D) € IURE g B ®

9 Revenue receipts... 1
(A) Increase assets \§®
(B) Reduce liabilitiesg\
(C) Decrease asse ¥
(D) Neither inc@e liabilities nor reduce assets

(A) T e €
(B) IGIAT Ul €
(C) ufamfaal mem &
(D) IeIEr, TRl Sl ¥ o T & ufiEwraal &H & ©

10 Total product is always equal to... 1
(A) Sum of average products (B) Sum of marginal products
(C) Output x marginal product (D) None of the above
P IAR Fed TG BT §
(A) ofEd SAEl & I & (B) @M SHTGE % AT &
(C) (dmra IUE x Fd Saded) & (D) Suded ¥ § fpdl & IREy Aw
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11  Explain the meaning of APC and MPC. 3
3fEd IUHRT Ygra S €M SU¥RT Ygfa @1 ofdf a9smsy|

12 Explain with the help of aggregate demand curve the equilibrium level of 3

income.

T AT 56 Dl GEIAT § ST % €W W Bl AT B |

13 Price of X falls by 20% and its quantity demanded increases from 500 units to 3

600 unit. Calculate its price elasticity of demand.

X %] @ HEA 20 YA ®F e UX IGHI AT 500 3HE H TeHT 600
THS B Wl &1 DI A B HEd @ 3G BT |

14 State the method of calculating 3
(1) Quartile Deviation and (ii) Coefficient of Quartile Deviation

Tge® fqaee iR agee faaes & Uiie & qieas Bl o fary aaEg|

15 State any three factors tha%@ffect the individual demand for a commodity. 3
Qﬂiﬁﬂ%ﬂ%ﬁﬁ@[aﬁwﬁaaﬂ%aﬁaﬁ%?ﬁ?wwl
‘Z>
N
16 State the dif@nce between Micro economics and Macro economics. 3

Give an example of each.

e AT IR THRS TSI H 31X AT | Tt hl Uh Teh IaTEIT ST |

17 What is meant by optimum utilisation of rosources? Explain. 3

GOl & Oy SUENT 9 T Oy Bl © ¢ 9Hssy |

18 State any three properties of indifference curve. 3

FARMEE deh B BIs A9 [ITAT FAET|
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19 Explain the difference between 'change in supply' and 'change in quantity 3
supplied'.
‘g # gftEes ofiR ‘Sgfid—m=n & g § o<k a9ssy|

20  While measuring National Income of India how will you treat ? 3
(a) Profit earned by foreign branches of State Bank of India.
(b) Gifts given to teachers by the school on its foundation day.

TSI ST T Mehels Hhid T oY M=faRad & T w1 Faei & ¢
(31) 9RO w2 % o foesh smare g erivta «my |
(@) TS ERT UISITAT o TMOAT o UX SreAmIsh! & f§u T Iuer|

21 Calculate arithmetic mean by the assumed mean method. 4

AT Hieg fafy g0 "m0 gl By |
Marks / 3 0-10] 10-20420-30 (30-40 (40-50

Number of Students / feenf¥fay &1 g 14 24 30 22 10

22 State the determinants of propensity to consume. 4
ST vt & Tafe a@
S
23 A consumer co es only two goods and is in equilibrium when 4

MRSZMRE.@(pIain why?
T SUHERI Bad Al S BN SUNRT HIAT & ST URemds &1 dia aX = fafma
% IO T Dl A # dged § ear 51 gHsEg w’i ¢

24 Explain "banker to the banks" function of central bank. 4

25 Define intermediate goods and final goods. Give two examples of each. 4

HEOTA! aEgei S Sifm awgatl @ qredTsT A | Ye % & &1 SaTeX S|
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26 Explain with the help of marginal product schedule, the law of variable 4
proportions.
G IE AIAHT bl TerEal | UiEdl STurdl & 1w &l e s |

27 Calculate Rank coefficient of correlation from the following data : 6
Serial No. of Students 1 2 3 4 5
Marks in English 45 60 30 55 40
Marks in Mathematics 75 80 60 50 40
frefefiad sffhel @ 9 TG Olh Dbl e Dby
feniéial w1 wu den 1 2 3 4 5
3 ® o 45 60 30 55 40
e H afw 75 80 60 50 40

28 How can the government (i) reduce income and wealth inequalities and 6
(i1) provide employment opportunities by its budgetary policy.
GBI ST T AT & fpg dxE (i) omg ofX Twfd ¥ WAl &Y &Y
Al T, o (ii) W\%&ﬂw TET HY Hadl |

S

29 Define olig Q.Explain the feature 'interdependence' of this market 6
with the help”of an example.
ST I UFCHIT ST | 38! fagiuar ‘SiaftTear & =men e Sl &l
TETaar o it |

30 Explain how do the following influence price elasticity of supply? 6

(1) Nature of the commodity
TR 1 P e FreRRed @ WS SR e B 7

(i) a& @ Tpia (i) @ oraty

(i1)) Time period
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31 Calculate National Income. 6

(X 000)
(1) INAITECE TAXES .uvieevrieeiiiieeeiieeeiee e ettt e eeteeeereeeeteeeeereeesaeeeereeeeraeeessaaans 100
(11)  Change N STOCK .....ccoviieriiiieiie ettt e e e e e e e aaeeees 200
(iii)) Government final consumption expenditure ............ccceeevveeeruveennee. 2,800
(iv) Net fixed capital formation.........c.ccceeveeeeiieeiiiieeriie e 1,700
(v)  Consumption of fixed capital .........cccoeeeviiiieiiiiieiiiieiiecce e 200
(VD) SUDSIAICS ..uvvvieeieiiiiieeeeiieee e ettt ee e e et e e e e e e e e e e etaaaeeeeeaaraeeeeans 20
(vii) Private final consumption expenditure .........cccceeecveeeeieeencireenineeeennnen. 5500
(VI11) EXPOTES .eeviieiiiieeiieeeiee ettt ettt ettt e et e e e e s bee e e s e e ensaeaens 300
(IX)  TMIPOTLS .eetieeiiiieeiieeeeiee ettt ettt e e et e e e e e et e e esbee s nbaeeeseasennsaaans 500
(x) Net factor income from abroad ...........ccccoeeiieiiiieiiiciiiieeeee e — 100
UL 3T B ARhAT DI |
( 000)
(1) STTRIET T eunieeeeeriiiiiiiiieeeeeeeeeeeriraiiieeeeeeeeeeanrnnnnnneeeeeeeasbosthnnesieneeens 100
(i) TB TECATAT oo i e 200
(iii) FXBIRA ST STHIT B ool e, 2,800
(iv) P& RIT PO PO .o e, 1,700
(V) RIT GO BT TTHT e b e e 200
(Vi) STRIE TETRIAT ..o o o Bt 20
(vii) TR ST SUMIT oo e 5500
(VD) TR e e e, 300
(IX)  BTTT tevvvviiieeeeeeereeriingnnneeeeeeeeeesesbheenssnneeeeessesssssnnnnssseeesssssssssnnnnnneeens 500
() frsk & gz wm@? ................................................................. ~ 100
N
32 Calculate Laspeyre'srz%‘lce index number for current year. 6
SR ad % R A B g @ e Hi
Items @‘ Base Year Current Year
L SRR yafd a9
Price Quantity Price Quantity
HHA = HHA A=
3 3
A 4 40 5 50
B 5 50 6 60
C 3 30 4 40
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